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Inatructions:
First 15 minutes ime has

)

() This ques
i) Al questions are compuilso

Marks allotted to each ques

Srart from the [irst question

which you cannol sodve.
Write the steps of solution of all the questions except question number 1-

(it} Write the solutions of the questions on both sides of the answer-book. If space for rough
work is required. use the left page of the answer-book and cross (x) it. Do not write any

v
m)

(o)

{gnillnll Version)

fion paper contains seven questions in all.

ry. _ _
tion are meﬂf"""’d against i,

solution on this page.

(vaii)

steps of the construction in brief
In solving the questions, explain your answer with the help of neat and correct

(ix)
diagrams where necessary. Such questions without diagrams will be treated as

Do not erase the construction lines in the questions relating to construction. Do write

incomplete and incorrect,
1. Doall the parts ;

Four alternatives of the answer of each part are given, out of which only one 18

-, A ks ' iy oy [ . ¥ 4
correct. Pick out the correct alternative and write it in your answer-book.

(a)

(b)

(d)

(e)

(N

Given that LCM (132, 288) = 3168, HCF (132, 288) is

(1 288 (i) 132 (iii) 48 (iv)
The discriminant of the quadratic equation 3x% — 6x + 4 = 0 is

M 12 Gi) 13 Gii) - 12 (iv) 38

12

: a . e -
Point P(~, 4) is the mid-point of the line segment joining the points

L

A(=4, 2) and B(5, 6). The value of a is

a -8 (i) -4 (iii) 2 (iv) 4
Ifin A PQR, PQ = 63 cm, PR = 12 cm and QR = 6 ¢cm, then £ Q18
(i 120° (i) 90° (iii)  60° (iv) 45°
If cos@=sinf, 0°<0<90° then angle?® isequalto

(iii)  45° (iv) 60°

a  0° (i) 30°

heen rl”ﬁﬂt’df”f examinees to read thig question paper.

and proceed L0 the last. Do not waste time 0Ver a question,

If the perimeter and the area of a circle are numerically equal, then the
1

radius of the circle is

(1) 2 units (i1) & units (1)

2. Do all the parts :
Find the value of %k for which the roots of the quadratic equation

(a)
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kx? + 20x + 25 = 0 are equal.

4 units (iv) 7 units
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. d EC = 81 cm, then
) 1o the figure, DE|| BC. 1f DB = 10.8 cm, AE = 27 em an I
ﬁndAD- A
B 13 ¢
() Ifcosec?= 5 then find the valyg of cot 0. 1
@ A sphe;-icml.m:lia:l metal ball of radius 8 cm is melted to make 8 smaller
identical solid balls. Find the radiyg of each new ball, I
8. Doall theparts:
(a) Prove that 2 - V5 ig an irrational number, 2
(b) The larger of two supplementary angles exceeds the smaller angle by 36
degrees. Find the angle. 2
(¢) In what ratio does the point (-4, 6) divide the line segment joining the
points (— 6, 10) and (3, - 8) ? 2
(d) Ifcos(A-B)= ? and sin (A + B) = %-‘3-,0‘”4:(/1 + B) 2 90% and A > B, then
find A and B. 2
4. Do all the parts :
(a) Find the HCF of numbers 165 and 255 using Euclid’s division algorithm, 2
(b) Find a relation between x and y, if the points (1, 2), (0, 0) and (x, y) are
collinear. 2
(¢) Find the value of 2e0tls5 2 sin 30° cot 45° sec 60°. 2
tan75°
(d) Find the mode of the following frequency distribution : 2
Class Interval | Frequency
1-3 6
3-5 8
5-17 2
7-9 3
9-11 1

822 (RE) 6



f a circle with centre O and radius

(¢) In the figure, OACB is a quadrant ©

g.6 cm. 1If OD = 2 em, find the area of the shaded region.
A
C
D
B e,

(d) The median of the following data is 266, If the sum of frequencies is 80,
then find the values of x and ¥ * 4

Class Interval | Frequency ‘}

0-10 5

| —

o
20 - 30 20
30 - 40 15

X
\
40 - 50 y |
|

t 50 - 60 l 5

is 400 m2. If the difference of their

7. Do all the parts:

(a) The sum of the areas of two squares
perimeters is 16 m, then find the sides of the two squares.
OR

s -:15 when 1 is added to the numerator and it becomes

6

A fraction become

1

E when 11is subtracted from its denominator. Find the fraction.

ircle of radius 4 cm from a point on the concentric

(b) Construct a tangent toac
length. Also verify this measurement

circle of radius 5 cm and measure its

by calculation.

6

OR

Construct a triangle with sides 5 cm, 6 cm and 7 cm and then construct a

triangle similar to it whose sides are % of the corresponding sides of the

given triangle.

822 (RE)



8. Doall theparis: . |
@ In the figure, ABCD is a traPerm with AB||DC. E and F are Points on

non-parallcl sides AD and BC respectively such that EF is paraiie! to AB.
BF ‘

AE
Sh AL 2.
ow that %D~ FC

A B

],
A

(b)  Find the roots of the quadratic equation 3xZ - 1lv + 843 =0. 4
© A metallic solid sphere of radius 42 cm is melted and recasted into the
shape of a solid cylinder of radius 6 cm. Find the height of the cylinder. 4
(d)  Find the mean of the following frequency table : 4
Class Interval | Frequency
|
10-25 2
______.--—--_"-'.'
26 — 40 3
40 - 55 7
| 40-
55 - 70 6
| -
70 — 85 8
85 - 100 L_/*i”__
e

6. Doall the parts:

(@) Solve the following pair of equations :

x J x Y

(b) The angles of depression of the top and the bottom of a 10 m high pillar
from the top of a multi-storeyed building are 30° and 45° respectively. Find
the height of the multi-storeyed building and the distance between the

pillar and the building.
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